(D)=t 5—1831 8 (ke))

FH28FERKIMIE HIFEBRRR

48 58 68 78 8A 98 108 158 128 18 28 38
[T 7,860 8,000 4,580 6,440 4,910 5,550 6,100 4,700 4,100 2,050 2,540 3,100
BRKE R 160 150 0 180 0 200 1,140 230 140 0 0 110
&5t 8,020 8,150 4,580 6,620 4,910 5,750 7,240 4,930 4,240 2,050 2,540 3210
(HBEE D miE)
MR DIES 48 58 6 A 78 8H 9A 108 18 128 18 28 38
o BEEDEE ki3 Eid ki3 Fi ki3 Fi ki3 Fi ki3 Ei Eid fid
= RRNBOIBEDRE
EAT E%‘QE# ki3 Eid ki3 Fi ki3 Fi ki3 Fi ki3 Eis Eid fid
BEENHOIHEEOEE
HE BEEDEE ki3 Eid ki3 Fi ki3 Fi ki3 Fi ki3 Eis Eid fid
BEENHoIHEEOEE
— BEEDEE ki3 Eid ki3 Fi ki3 Fi ki3 Fi ki3 Eis Eid fid
BEENHOIHEEOEE
TR BEEDEE ki3 Eid ki3 Fi ki3 Fi ki3 Fi ki3 Eis Eid fid
BEENHoIHEEOEE
OKBERE)
Rk 48 58 68 78 8H 98 108 118 128 18 28 38
®KEAB H28.4.12 | H285.13 | H28.6.14 | H28.7.12 | H2889 | H28.9.13 [H28.10.14| H28.11.8 | H28.12.8 | H29.1.13 | H29.2.14 | H29.3.14
K B % 15:00 15:00 15:00 15:00 15:00 15:00 15:00 15:00 15:00 15:00 15:00 15:00
x (& ] i i ] i ] ] = £ 5 S 5
£ B (O 18 21 24 24 28 26 20 15 12 12 15 15 HAE(E
K B (C) 19 19 19 22 20 22 21 22 21 20 21 20
BEE  (cm) 30 30 30 30 30 30 16 30< 30< 30< 30< 30<
5N B Ei3s) EE EE EE EE &R Haf s EE BE EE BE
2 = ER |R BER ER BER |R |R ER |R ER |R ER
KFAFViRE (PH) 7.9 8.0 8.0 8.0 8.3 8.3 7.6 8.2 8.0 8.0 8.1 8.1 58~ 8.6
EYLFHBRRZRE (BOD) 3 4 4 4 4 3 3 5 4 1> 4 4 =60
LEMERERE (COD) 5 8 10 8 11 10 13 10 8 7 7 6 =90
FHEYE (SS) 6 6 3 3 2 2 70 4 1> 1> 1 1 =60
2RRTN) 35 5.6 9.5 9.2 12 6.3 8.7 8.1 8.3 12 12 8.2 =120
TR IK 48 58 67 718 8H 9A 108 18 128 18 28 3A
BKEAB H28.4.12 | H285.13 | H28.6.14 | H28.7.12 | H28.8.9 | H28.9.13 [H28.10.14| H28.11.8 | H28.12.9 | H29.1.13 | H29.2.14 | H29.3.14
3k B %l 15:00 15:00 15:00 15:00 15:00 15:00 15:00 15:00 15:00 15:00 15:00 15:00
x & i i i i i i i B S 5 S 5
£ R (O 18 21 24 24 28 26 20 15 12 12 15 15 HAE(E
K B (C) 19 18 19 22 20 22 21 22 21 20 21 18
BRE  (cm) 30< 30< 30< 30< 30< 30< 30< 30< 30< 30< 30< 30<
N 8 s 3= EE fi3e) EE Eig= EE e EE BeE 3= Eid=)
2 = ER |R ER |R ER |R ER ER ER ER |R ER
IKFRAA VR (PH) 78 7.6 7.3 74 7.1 7.6 8.0 75 75 7.6 75 7.7 58~ 8.6
EYILFHIERERE (BOD) 1 3 1> 1> 1> 1> 1> 1> 1> 1> 2 1> <60
1LF B R ERE (COD) 3 5 6 5 7 8 7 6 6 5 5 4 =90
FHEYE (SS) 1> 1> 1> 1> 1> 1> 1> 1> 1> 1> 1> 1> =60
2EHR(T-N) 2.8 5.8 5.4 76 6.1 8.5 74 6 6.5 8.5 8.7 6.6 <120
KEERHTY) 0 0 0 0 0 0 0 0 0 0 0 0 H <3000
HRED L (mg/L) 0.0005 <003
ST (mg/L) <0.1 =1
A (ma/L) <0.1 =1
8 (mg/L) <0.005 =0.1
Affio0 L (me/L) <0.005 =05
it (me/L) <0.005 =0.1
#IKER (mg/L) <0.0005 =<0.005
T ILFILKER (mg/L) TR BREIhGWNIE
PCB (mg/L) <0.0005 =<0.003
THOAAEY (mg/L) <0.002 =02
POig b Bk (me/L) <0.0002 =0.02
12—24900I4Y (mg/L) <0.0004 <004
11—290aTFLr (mg/L) <0.01 =1
L Z2-12—2H00TF L (mg/L) <0.004 =04
1.1.1—ky~00I4Y (me/L) <0.001 =3
1.1.2—ky~00IAY (me/L) <0.0006 <0.06
r)ZORIFLY (me/L) <0.001 =0.1
FRSHAAIFLY (mg/L) <0.0005 =0.1
1.3-24007[R> (mg/L) <0.0002 <002
F95 L (mg/L) <0.0006 <0.06
TV (me/L) <0.0003 <003
FARUAILT (mg/L) <0.002 =02
AUHY (mg/L) <0.001 =01
L (mg/L) <0.002 =01




14-OF XY (mg/L) <0.005 =05
Jvik (mg/L) <0.1 =15
% (mg/L) 0.48 =50
TUEZT ., TUEZT LAY, BiRE 6.4 <200
L EMRUHEEILEY (me/L) =
FUEZTHER (meg/L) 1.3 —
EHERTEER (ma/L) <0.005 —
THEEEZE %R (me/L) 6.1 —
NS =
AR (s <o =
A =
AR B (/L) <05 =30
J7zx/—)L$E(mg/L) <0.05 =5
i (mg/L) <0.04 =3
R (me/L) <0.04 =2
BRI (mg/L) <0.1 =10
BRMETUHY (me/L) <0.1 =10
20, (mg/L) <0.05 =2
21 (me/L) 0.63 =16
HAF XU $E (pg-TEQ/L) 0.00018 =10
HmFAK  ER 48 58 67 78 8H 9A 108 118 128 1A 2R 38
®KERAB H28.4.12 | H285.13 | H28.6.14 | H28.7.12 | H28.8.9 | H28.9.13 [ H28.10.14| H28.11.8 | H28.12.9 | H29.1.13 | H29.2.14 | H29.3.13
7 K B %l 15:00 15:00 15:00 15:00 15:00 15:00 15:00 15:00 15:00 15:00 15:00 15:00
x (& i i i3 i i3 i i3 = S & S &
£ R (O 18 21 24 24 28 26 20 15 12 12 15 15
K R (C) HAE(E
BERE  (cm) 30< 30< 30< 30< 30< 30< 30< 30< 30< 30< 30< 30<
K Fids) i) RE e EE e EE Eige EE RE EE RE
2 K ER ER ER E|R E/R E|R |R iy |R B/ |R B/
EREEEmMs/m) 17 18 17 17 17 16 17 18 17 17 17 13
B AA 2 (me/L) 13 13 13 14 13 13 13 13 13 13 13 17
HRSY L (mg/L) <0.0003 <0.003
27 (mg/L) Tt BEIhGgnIE
8 (mg/L) <0.005 <001
NAEY 8L (me/L) <0.005 <005
fit% (me/L) 0.006 =001
#KER (mg/L) <0.0005 <0.0005
7 ILFILKER (mg/L) Tt BHINGWNIE
PCB(mg/L) Tt RHEIhABNE
o048y (mg/L) <0.002 <002
PaiE b 3R (me/L) <0.0002 =<0.002
12—2500T4> (mg/L) <0.0004 <0.004
1.1—240aTFL (mg/L) <001 <0.1
12—290aTFL (mg/L) <0.008 <004
L 2Z2-12—2400TF L (mg/L) <0.004 —
S5 Z2-12—2900TF L (mg/L) <0.004 —
11.1—rYZO0I4Y (mg/L) <0.001 =1
11.2—kJ~O00TAY (me/L) <0.0006 <0.006
k)OI FLY (me/L) <0.001 <001
FrSYOAIFLY (me/L) <0.0005 <001
1.3-2>90070/XY (mg/L) <0.0002 <0.002
Fr95 L (mg/L) <0.0006 <0.006
P (mg/L) <0.0003 <0.003
FARUAILT (mg/L) <0.002 <002
RUEY (mg/L) <0.001 <001
L (mg/L) <0.002 <001
1.4-CAF Y2 (mg/L) <0.005 <005
BIEEZILE/T—(mg/L) <0.0002 <0.002
JvE (mg/L) 0.1 =08
%k (mg/L) 0.03 =1
HMMERRRVEHBIERR (me/L) <0.055 =10
HAHEMEER (me/L) <0.005 —
THEMERR (me/L) <0.05 —
FAH ¥ U (pg—TEQ/L) 0.000013 =1
WFK TR 48 58 6A 78 8A 98 108 1158 128 18 28 38
BKEAAB H28.4.12 | H285.13 | H28.6.14 | H28.7.12 | H288.9 | H28.9.13 [H28.10.14| H28.11.8 | H28.12.9 | H29.1.13 | H29.2.14 | H29.3.13
K B % 15:00 15:00 15:00 15:00 15:00 15:00 15:00 15:00 15:00 15:00 15:00 15:00
x & i B i B i i i 8 E i g BE
£ R (O 18 21 24 24 28 26 20 15 12 12 15 15
K B () HAE(E
BEE  (cm) 30< 30< 30< 30< 30< 30< 30< 30< 30< 30< 30< 30<
L EE Eige EE Eige EE Eige EE Eige EE BE i3 BE
2 & ER ER ER |R | |R |R |R |R ER |R ER
BRAGEE(ms/m) 14 13 10 11 11 12 11 10 11 13 14 13
BAEAA 2 (me/L) 14 13 13 13 12 12 9.4 8.9 8.4 9.9 10 9.2
HRIY L (mg/L) <0.0003 <0.003




27 (mg/L) T BREIhENIE
£ (mg/L) <0.005 =0.01
FNAEiZ AL (mg/L) <0.005 =0.05
fit3 (me/L) <0.005 <001
#KER (mg/L) <0.0005 =0.0005
T ILFILKER (me/L) T BREIhGNIE
PCB(mg/L) T BREIhGENIE
200458 (mg/L) <0.002 =0.02
PaiE 1k % (me/L) <0.0002 <0.002
12—24900T4 (mg/L) <0.0004 =0.004
1.1—290aTFLY (mg/L) <001 <0.1
1.2—290aTFLr (mg/L) <0.008 =0.04
L 2-12—2400TF LY (mg/L) <0.004 —
rFSUR-12—24900TFL Y (mg/L) <0.004 —
1.1.1—ryH00xAY (me/L) <0.001 =1
1.1.2—kJHBBAIAY (mg/L) <0.0006 <0.006
r)/aRIFLY (mg/L) <0.001 <001
FTrSYAAIFLY (mg/L) <0.0005 <001
1.3->90a7AxY (mg/L) <0.0002 <0.002
F 75 .L(mg/L) <0.0006 =0.006
2IP2 (mg/L) <0.0003 =0.003
FAAUAILT (mg/L) <0.002 =0.02
RUEY (mg/L) <0.001 <001
L (mg/L) <0.002 <001
1.4-DF F 42 (mg/L) <0.005 =0.05
BIEEZILE/T—(mg/L) <0.0002 <0.002
vk (mg/L) <0.1 =038
% (mg/L) <0.02 =1
THBEERECEHBIEER (mag/L) <0.055 =10
EHERTE R (ma/L) <0.005 —
THEATE R HR (ma/L) <0.05 —
A4 ¥ 58 (pg—TEQ/L) 0.00047 =1




